] AOUIIURISUOD p\v\wgouaumxm

NJsadIUION BUIQ 479 M\ww\xxwlmﬁ 495 |Iqe3uU0) o Y
aun| eieo) % 1032341
Y
0 / 1s w(0'v-0'2) AP 3BINN|EE
vET vE'T cw (WS'T-0'T) wope-Sz P 191 |ze
0 cw (We-T 2)wdyz-vT 1P sa4D|Te
LTTT LTCT cw (We-T7) wose< 12 Jefaas]oe
T€0 1€0 cw w(0'2-9'T) woge< |12 1elais]6e
0 cw (WS T-0'T) woge< |12 selais|ge
0 gw (We-T°2) wopz-pT 1112 1efs|/z
69T 69T cw (WS T-0°T) Wopyz-¥T 1P 191]97
0 cw (We-T°7) wagz< 112 saudse
820 87°0 cw (W6'2-9°T) WdGE< |12 sauD |
€€'€ gee cw (WS T-0'T) wose< 1112 Be4|eg
8T'1T 8T'T cw (we-1°7) woye-sz 1P Seq|ze
86T €T IT°/T cw (we-Tz) wose< 112 Seq|t1e
0 cw (WgT-T) woge< 1P uadie)|oz
0 cw (WS T-T) wope-pz 1112 uadied 6T
0 gw (WG T-T) wopz-vT 1112 uadied|gT
0 cw (WG T-T) woyz-pT 1112 4elAIS| /T
0 cw (WGT-T) woGE-Gz 1112 4el215[9T
0 cw (WG T-T) Woyz-pT 1112 uisea4[gT
0 cw (WS T-T) woge< 12 uised4|pT
0 cw (WG T-T) woGE-Gz 112 uisea4[eT
0 cw (Wwg-z) wapz-vT NP 191zt
v8°L z 95T 680 95°0 €8¢ cw (w9-7) wose-Sz [P 191 [TT
LE6 9€°0 t 10°S cw (W9-z) wage< (112 131 0T
61°62T [I8L 809 €5°/T (896 G9°€T w6 cw (Wwe-T°7) wage< 1o sefas|e
16°LT 16°L1 cw (w9-€) wage< 1112 Jelals]g
L6V vTT €8¢ cw (We-T°2) wape-Sz 1P Jelxs|,z
0 cw (We-1°2) wopz-yT 11P uiselq|g
[AZ3" 97’9 €6°0 €79 cw (Wwe-1°7) wdpe-Gz 1P utselq|g
88°LT |189 8T'T 16T SLY LT'T cw (We-T°2) wage< |ip uiselq|g
ovy 091 09 0¢ 08 0Tt 1s 18uatd ‘Pen|y
6b ST T 11 i ST is I0W D04 9P BUWT| €
0 1S Salid e} uou_ op uwal|e
vSs 9¢T S€vy  |sToT  |l01 A 26 6¢ 0¢ 1 118} 204 3P BUWT [T
je1og €T 4 j o # 0T 6 8 JA — nm: S v € 4 T nu

£202°T0°0Z 3p p1op D] 210IIYID3U 3131353.40f 131ionpoid 3(1und03s




